MEHEHUISEH [B.7L CARE MIE] ¥ TRAMSMISSION aMD RELATED PARTS [BORG WaRMER 71C & 72C) b
Serial Mbr Flange: 0LO02003 THRU OM316535 ()
1is ..0" Ref [Clazs | Part Dezcrphtion Qi Comment Footnote .
=
(O 1 A7E10419| TRANSMISSION 1 [F2C1[1.1:1 RATIO)
A, 16 1 BO9E14 B| TRAMSHISSION 1 [F2CYW-DRMNE] [2.5:1 RATIO - LEF
l?_'w/*‘ 1 E0D9E14 8| TRAMSHMISSION 1 [72CYW-DRMVE] [2.5:1 RATIO - RIC
2 10 B0 79| SCREW [FAE14% 31,/2 M) 5
B 3 13 32993 LOCKWASHER [FAE 1IN G
4 av 28031 | SWITCH-TEMPERATIIRE 1
a3 32 205473 1|HOSE-OIL 1 [19-1/2 IMJ[IMN-LIME TRAMSMISS
] 32 47516 9/ HOSE-OIL 1 [37 IN.W-DRIVE TRAMSMISSION
5 32 47516 B|HOSE-OIL 1 [30 IMJIM-LINE TRAMSMISSION
G a2 47516 13|HOSE-OIL 1 [459 IM.I-DRIVE TRAMSMISSION
7 22 88517 | ADAPTOR 1 [STRAIGHT)
7 22 E3835 | ELE O 1 [45 Degres]
2 22 47629 ELECW [S0 DEG) 1
| 479174 1 |FLANGE ASSEMBLY OPT. |[[4% 1IN
9 TI4764 1 |FLAMGE ASSEMBLY OPT. [[5X 1IN
9 TI476A 2| FLAMGE ASSEMBLY OPT. |[B=1-1/81M]
9 TI476A 3| FLAMGE ASSEMBLY [B# 1-1/4 IN|OPT.
9 TI476A 4| FLAMGE ASSEMBLY OPT. |[B=1-3/81M.]
| 734764 5| FLANGE ASSEMBLY OPT. |[Bx11/21M)
9 TI4764 B|FLAMGE ASSEMBLY OPT. |[Bx1-3/4 1M
9 TI476A 7| FLAMGE ASSEMBLY OPT. |[B=2IN]
10 10 EON71| SCREW 2 [348-1E = 1-1/41M.]
10 10 EOME3| SCREW 2 [348-16 = 244 IM.]
Ikl 10 B3101| SCREW [3/8-16% 1-1/4 M) 4 [4 IN. FLAMGE]
12 13 35048 LOCKMWASHER [3/83 1) 4 [4 IN. FLAMGE]
13 11 32219) HUT [3/8-1E6] 4 [41M. FLAMGE]
11 10 305159 SCREW [FAE-20%1-1/21M.) 4 [51M. FLAMGE]
12 13 32993 LOCEMAASHER [FHEIM.) 4 [5IM. FLAMGE]
13 Ikl 22024 WUT [7A16-20) 4 [5IN. FLAMGE]
14 16 74774 3|STUD EIT 1
15 183514 1 |BRACKET ASSEMBLY 1
1B 1B 974774 3] STUDKIT 1
17 10 B4E15| SCREW [1/4-20 % 5/8 1) 2
o 18 13 26992 | LOCKWASHER (1/4 IM.] 2
0 3 IMPORTANT 13 43325|LEVER-SHIFT 1
THE ONLY BORG WARMER TRANSMISSION PARTS AVAILABLE FROM MERCURY MARINE ARE 2D 12 20?22 WASHEH 1
THOSE LISTED ON THESE PAGES. IF OTHER BORG WARNER PARTS ARE REQUIRED, THEY MUST 21 13 265993 | LOCKMWASHER 56 IM.] 1
MERCURY MARINE REGIONAL SERVICE GENTER FOR THE NAME AND ADDRESS OF THE BORG 2z ] 0 22053/ NUT (5/16-24) 1
WARNER DISTRIBUTOR SERVING YOUR AREA 2 e -




